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CBofHble AaHHble

Kypc 1 Kypc 2 Kypc 3 Kypc 4 Voo
ceM. 1| cem. 2 | Bcero |cem. 3| cem.4| Bcero | ceM.5 | ceM. 6 [ Bcero | cem.7 | cem.8 | Bcero
TeopeTuueckoe obyyeHne 18 191/6 | 375/6 (18 4/6(164/6| 352/6 | 181/6 | 164/6 | 345/6 | 174/6 | 91/6 | 265/6 | 134 5/6
4/6
9 |2K3aMeHauMOHHble ceccum 2 23/6 | 43/6 2 23/6 | 43/6 2 3/6 2 3/6 5 3 1 4 18
Y [YuebHas npakTuka 2 2
M |lMpon3BoACTBEHHAs NpaKTUKa 2 2
MNa [MpepaMnnoMHas npakTuka 4 4 4
3aLmTa BbINyCKHON KBanMbUKaLMOHHOM
[ |paboTbl, BKNOYas NOAroToBKY K 4 4 4
npoueaype 3almThbl U NpoLleaypy 3alumThl
r MNMoaroToBka K caaye v caada roc. 2 2 2
JK3aMeHa
K |KaHukynbl 1 6 3/6 7 3/6 1 7 8 1 7 8 1 8 9 32 3/6
! 1
« |Hepabouve npasaHnyHbie AHK (He 2/60| 5/60 | 2 1/60 2/601 560 (21/600 |12/60( 5/60 |21/600|12/60( 5/60 |21/60 |8 4/600
BK/1O4As BOCKpECeHbS) 8 | (5an) | (13 aH) (8 o) (5aH) | (A3a8H) | 8aH) | (5aH) | (A3 4H) | (BaH) | (5aH) [ (13 an) | (52 aH)
AH)
MponomkuTenbHOCTb 06yyeHus [
(He BkntOYas Hepaboume NpasgHUYHbIE AHU U 6onee 39 Hep, 6onee 39 Hep 6onee 39 Hep 6onee 39 Hep
KaHWKybl)
Wroro 23| 29 [ 52 [ 23] 29 | 52 23 | 29 | 52 23 | 29 | 52 208
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